




Advanced Long-term Debt Paying Ability Analysis
Learning Problems 

Income Taxes at Ranger
Ranger Company began operations on January 1, 2018.  In its first year, the company had an operating income of CAD 650,000 before taxes.  
Other information:

1. A building costing CAD 4,000,000 was purchased on January 1.  The depreciation expense was CAD 300,000, but the CCA claimed was only CAD 200,000.

2. Ranger borrowed CAD 50,000 from CIBC on July 1 at 12.0% per annum.  The principal plus interest will be repaid at maturity in one year.  The interest is tax-deductible when accrued.

3. An adjusting entry was made at year-end to record stock options expense of CAD 15,000.  Stock options expense is not tax-deductible.

4. Warranty expense of CAD 45,000 was deducted for the year, but only the CAD 23,000 paid out was tax deductible.  The company offers a one-year warranty on its products.

5. Customers prepaid revenue of CAD 65,000 in December, which will be earned as the product is delivered over the next year.  The revenue is subject to tax when received by the company.

6. Dividend income of CAD 6,000 was earned on a CAD 100,000 long-term investment in a Canada-owned corporation.  This amount was declared but not paid at year-end.  

7. Non-taxable capital gains of CAD 4,000 were realized on the sale of fixed assets.
8. Accounts receivable of CAD 105,000 were outstanding at year-end.  The revenue will not be taxed until it is received.

9. Ranger paid CAD 35,000 in exploration costs this year.  This amount was expensed, but only CAD 5,000 can be deducted for tax purposes.  Five thousand dollars is also deductible in each of the next six years.

10. The company settled with a disgruntled customer for CAD 15,000 over a defective product complaint.  The amount will be paid next year and will be tax-deductible then.

11. Goodwill of CAD 45,000 was recognized when the company was purchased at the beginning of the year.  A goodwill impairment of CAD 2,250 was recognized at year-end, but is not tax-deductible.

12. The combined federal and provincial tax rate is 25.0%.

REQUIRED:
1. Make the journal entries to record income tax expenses in 2018.

2. Prepare a partial income statement for 2018 relating to income taxes.

3. Prepare a partial statement of financial position for 2018 relating to income taxes.
4. Reconcile the statutory and effective tax rates.
Income Taxes at Selkirk
Selkirk Company began operations on January 1, 2018.  In its first year, the company had an operating income of CAD 350,000 before taxes.
Other Information:

1. Depreciation expense was CAD 100,000 in 2018, but the CCA claimed was only CAD 60,000 due to the application of the half-year rule.

2. Accounts receivable totalled CAD 85,000 at year-end.  This amount will not be subject to tax until received.

3. Non-taxable capital gains of CAD 12,000 were realized on a land sale.
4. Warranty expense of CAD 25,000 was accrued, but only the CAD 15,000 paid out this year is tax deductible.  The company offers a 1-year warranty on its products.

5. An adjusting entry was made at year-end to accrue CAD 15,000 in legal expenses.  This amount is tax-deductible when accrued.

6. Dividend income of CAD 2,000 was earned on a CAD 20,000 portfolio investment in a Canadian-owned corporation.  The dividend was received on November 1.

7. Selkirk received a judgment for CAD 14,000 in a case related to copyright infringement.  The amount will be paid next year and will be subject to tax then.

8. A customer prepaid CAD 18,000 in revenue in late November.  The amount is subject to tax now, but will not be earned until next year.

9. Selkirk incurred CAD 15,000 in R&D costs in January.  They were expensed immediately because they did not meet the conditions for capitalization, but must be amortized over five years for tax purposes.

10. The combined federal and provincial tax rate is 25.0%.

REQUIRED:
1. Make the journal entries to record income tax expenses in 2018.

2. Prepare a partial income statement for 2018 relating to income taxes.

3. Prepare a partial statement of financial position for 2018 relating to income taxes.
4. Reconcile the statutory and effective tax rates.
Loss Carrybacks and Carryforwards at Smith
Smith Company began operations on January 1, 2018.  The following are the taxable incomes for the first four years of operations:

	
	2018
	2019
	2020
	2021

	Tax rate
	25.0%
	25.0%
	25.0%
	25.0%

	Taxable income
	CAD 250,000
	(CAD 150,000)
	(CAD 200,000)
	CAD 300,000


There were no temporary differences from 2018 through 2021.  All loss carryforwards are probable.  

REQUIRED:

1. What income taxes are payable or receivable from 2018 to 2021?  What deferred income asset should be recognized?
2. What if the loss carryforwards are not probable? 
Loss Carrybacks and Carryforwards at Jones
Jones Ltd. commenced operations on January 1, 2018.  The following are the taxable incomes for the first four years of operations:

	
	2018
	2019
	2020
	2021

	Tax rate
	25.0%
	25.0%
	25.0%
	25.0%

	Taxable income
	(CAD 350,000)
	CAD 200,000
	CAD 250,000
	(CAD 350,000)


There were no temporary differences from 2018 through 2021.  All loss carryforwards are probable. 
REQUIRED:

1. What income taxes are payable or receivable from 2018 to 2021?  What deferred income asset should be recognized?
2. What if the loss carryforwards are not probable? 

Capitalizing Leases at Secure Transport

NFI manufactures transit buses, which it sells or leases to city transit authorities and private transportation companies at a list price of CAD 180,000.  Buses last on average 15 years and have a negligible salvage value.   

Secure Transport leased 10 buses on December 1, 2018.  A monthly lease payment of CAD 2,263.19 per bus was negotiated.  The lease is for 10 years, after which Secure Transport will take possession of the buses at no charge under a bargain purchase option.  

The implicit rate in the lease is 9.0%, compounded monthly.

REQUIRED:

1. Prepare a partial income statement and balance sheet for Secure Transport at the end of the first month of the lease.

Capitalizing Leases at Wilson

Network Company manufactures computers, which it sells or leases for use as front-end processors in wide-area networks.  Network builds computers and sells them for CAD 95,000.  The computers have an estimated life of seven years and a negligible salvage value.  

Network leased two computers to Wilson Company for five years at CAD 1,754.88 each per month on December 1, 2018.  Network expects each computer to be worth CAD 11,732.65 when returned to the lessor at the end of the lease.  

The implicit rate in the lease is 8.0%, compounded monthly.  
REQUIRED:

1. Prepare a partial income statement and balance sheet for Wilson at the end of the first month of the lease.

Capitalizing Leases at Porta Power
Porta Power Company manufactures industrial generators that are used at isolated construction sites.  Each generator sells for CAD 238,300.  The generators have an estimated life of 10 years if properly maintained and a negligible salvage value.    

Porta Power sells and leases its products.  Arctic Construction leased four generators on December 1, 2019. The lease is for eight years, and the monthly payment for each generator is CAD 3,585.97, payable at the beginning of each month.  Arctic Construction takes possession of the generators at the end of the lease at no cost.   

The implicit rate in the lease is 10.0%, compounded monthly.  Arctic Construction has an incremental borrowing rate of 9.0%, compounded monthly. 

REQUIRED:

1. Prepare a partial income statement and balance sheet for Artic Construction at the end of the first month of the lease.
Capitalizing Leases at Acme

Acme Ltd. entered a 2-year operating lease for some equipment on December 1, 2018.  Lease payments are CAD 2,000 per month, payable at the beginning of each month.  

The company’s incremental borrowing rate is 5.0%, compounded monthly.

REQUIRED:

1. Prepare a partial income statement and balance sheet for Acme at the end of the first month of the lease.

Define Benefit Plan at Springer
Springer Industries provides its employees with a defined benefit pension plan.  The following are select financial statement disclosures for 2022:
	CAD (000)
	2022 

	Defined benefit plan cost
	

	  Service costs
	250.8

	  Net interest costs
	300.4

	  Remeasurements
	-19.7

	    Total
	531.5

	
	

	Change in defined benefit obligation
	

	Beginning benefit obligation
	31,257.6

	  Service costs
	250.8

	  Interest costs
	1,712.9

	  Benefits paid
	-1,454.2

	  Actuarial losses and gains
	0

	Ending benefit obligation
	31,767.1

	
	

	Change in defined benefit plan assets
	

	Beginning fair value of plan assets
	25,775.2

	  Actual return on plan assets
	1,432.2

	  Employer contributions
	762.3

	  Benefits paid
	-1,454.2

	Ending fair value of plan assets
	26,515.5

	
	

	Beginning net defined benefit liability
	5,482.4

	Ending net defined benefit liability
	5,251.6


Springer has a discount rate of 5.48%.  This is the current yield on high-quality corporate bonds with the same duration and currency as the defined benefit plan.

REQUIRED:

1. What is the defined benefit plan’s funded status at the end of 2022?  How is it disclosed?
2. What are the service costs?  How are they calculated?  
3. What are the net interest costs?  How are they calculated?  
4. What are remeasurements?  How are they calculated?  
5. How are the components of the defined benefit plan cost disclosed?
6. Explain the relationship between the defined benefit plan cost and the net defined benefit plan liability.  

7. What factors caused the defined benefit plan obligation to change?  How are they disclosed?
8. What factors caused the fair value of the defined benefit plan assets to change?  How are they disclosed?
9. How do the benefits paid to employees affect the defined benefit obligation, fair value of defined benefit plan assets, and net defined benefit liability?

10. How would changes in these actuarial assumptions affect the funded status of the plan? 
Increase in the discount rate

Decrease in the rate of compensation increase
Increase in life expectancy
Reduction in the vesting period

Elimination of early retirement provisions

Decrease in the average remaining working life

11. What could a concurrent increase in the discount rate and a decrease in the rate of compensation increase at Springer indicate? 
Defined Benefit Plan at Chapman
Chapman Ltd. provides its employees with a defined benefit pension plan.  The following is select financial information for 2022:

	CAD (000)
	2022

	Beginning balance of defined benefit obligation
	50,400

	Beginning balance of plan assets
	46,800

	Service cost
	384

	Actual return on plan assets
	3,240

	Actuarial loss
	552

	Employer contributions
	1,200

	Benefits paid
	4,770

	Discount rate
	7.0%


REQUIRED:

1. Calculate the defined pension benefit cost and ending net defined benefit asset or liability for 2022.  How are they disclosed?
2. What is the relationship between the defined benefit plan cost and the net defined benefit obligation?  
Amortized Cost Using Effective Interest Rate Method
On January 1, 2018, Jones Ltd. negotiated a 10-year term loan with a face value of CAD 100,000.  The loan requires equal monthly payments and has an interest rate of 7.0% compounded monthly, approximating the market rate.

REQUIRED:

1. Make the journal entries relating to the term loan in 2018.

2. Prepare a partial balance sheet at the end of 2018.
Subsidized Loans at Niverville
Niverville Industries purchased a machine for CAD 1,500,000 on November 1, 2023.  It paid 25.0% down and borrowed the remainder from the CIBC.  The loan has a term and amortization period of 10 years, and payments are made at the end of each month.  The interest rate is 8.0%, compounded semi-annually, but the current market rate is 12.0%, compounded monthly.  
REQUIRED:

1. Make the journal entries relating to this subsidized loan in 2023.
Liquidity Risk at George Weston
George Weston Ltd. is Canada’s leading grocery chain.  Below is Note 31 Financial Risk Management from their 2023 Annual Report.
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REQUIRED:

1. What are George Weston’s concerns relating to liquidity risk?
2. What actions is George Weston taking to mitigate this liquidity risk?
Fair Value Hedge at Oil Distribution
Oil Distribution Ltd. has 2,000,000 barrels of oil for which it paid $40 per barrel on the spot market.  This oil is to be held in reserve in anticipation of high demand during the coming winter, which is forecasted to be unusually cold.  Oil Distribution’s CFO is worried that the value of this oil may fall if Saudi Arabia decides to increase oil production in response to U.S. political pressure.  

To guard against the loss, the company entered a futures contract that allows it to sell oil at CAD 40 per barrel in three months.  The following were the future prices at the end of each of the three months in the contract:


September
CAD 41


October
CAD 38


November 
CAD 34

The 2,000,000 barrels of oil were sold at the end of November for CAD 34.

REQUIRED:

1. How would Oil Distribution account for this transaction if it did not adopt hedge accounting?
2. How would Oil Distribution account for this transaction if it adopted hedge accounting?

Cash Flow Hedge at Harris
Harris Manufacturing Ltd. needs to purchase 10,000 tonnes of steel at the end of March for use in its operations.  To hedge against steel price variability, Harris entered a futures contract to buy steel at CAD 614 in three months.

The following were the future prices at the end of each of the three months in the contract:


January
CAD 618


February
CAD 626


March
 
CAD 624

Harris used 4,000 tonnes of steel in April and 6,000 tonnes in May.

REQUIRED:

1. How would Harris account for this transaction if it adopted hedge accounting?

Convertible Bonds at Grayson
Grayson Industries has CAD 15,000,000 in 10-year convertible bonds that pay a semi-annual coupon of 4.82% and trade at 112.310.  Equivalent straight bonds yield 5.20%, compounded semi-annually.  
REQUIRED:
1. What portions of the convertible bond should be classified as debt and equity?  
Classification of Financial Instruments as Liabilities or Equities
1.
ABC Company issued CAD 5 non-cumulative preferred shares with an unlimited life.

2.
Dexter Company issued CAD 3 cumulative preferred shares with an unlimited life.

3.
Rose Company issued CAD 6 cumulative preferred shares with an unlimited life.  The preferred shares are retractable by the holder.
4. Amber Company issued CAD 2 cumulative term preferred shares that it must repurchase in five years at CAD 40 per share.
What if the repurchase feature is on a best-efforts basis?  

5. Ethel Company issued preferred shares with an unlimited life with an accelerating cumulative dividend, which starts at CAD 2 per year and increases by 10.0% yearly.  Ethel Company has the option of repurchasing these shares after five years.
6. Delta Company issued perpetual bonds with an indefinite life and a coupon rate of 7.0%. 
7. Alexa Company issued perpetual bonds with an indefinite life and a coupon rate of 8.0%.  The principal is unsecured and subordinate to other debt instruments.  The interest payment is not guaranteed and is subordinate to other debt instruments.  
8. Jones Ltd. negotiated mezzanine debt financing where the interest and sinking fund payments can be met by issuing common shares.
9. BEP Enterprises common shareholders have the option at any time to redeem their shares for cash or exchange them for shares in BEP’s parent company.
REQUIRED:

1. Classify the financial securities in the above transactions as either debt or equity under IFRS.
 Stock Options at Emerson
On January 1, 2014, Emerson Ltd. issued 900,000 stock options to 1,000 employees.  The options vest after three years.  The exercise price is CAD 50 per share, and the current market value of the share is also CAD 50.  Based on the Black-Scholes model, these options are currently valued at CAD 17.15 per option.  The forfeiture rate was initially estimated to be 3.0% per year due to voluntary and involuntary turnover. This estimate was changed to 6.0% at the end of the second year.  The accounting period is the calendar year.
REQUIRED:

1. Make all the journal entries relating to this stock option plan over the next three years, assuming they will be exercised.
Stock Appreciation Rights at Jones
Jones Company hired Mary Wilson as the company's new CEO on January 1, 2014, for three years.  In addition to her monthly salary and yearly bonus, Mary was given common stock appreciation rights (SAR) in her compensation package to serve as pay for the duration of her contract.  She was issued 200,000 stock appreciation rights on January 1 – the rights were to be paid in cash at maturity when the SARs were vested.  The following schedule shows the price of Jones' common share over the term of Wilson's employment:


January 1, 2014


CAD 43


December 31, 2014


CAD 50


December 31, 2015


CAD 48


December 31, 2016


CAD 52

The accounting period is the calendar year.

REQUIRED:

1. Make all the journal entries for this stock appreciation package over the next three years.
2.
How would the entries in 2016 change if Mary Wilson was fired for cause?

Restrictive Shares at Rebel
On January 1, 2014, Rebel Ltd. issued 300,000 restrictive shares to its senior managers.  The shares vest at the end of the third year and have a current market value of CAD 50.  Due to both voluntary and involuntary turnover, the forfeiture rate was initially estimated to be 3.0% each year.  This estimate was changed to 4.0% at the end of the second year.  The accounting period is the calendar year.
REQUIRED:

1.
Make all the journal entries relating to this restricted share plan over the next three years.  

Deferred Share Units at Cascade

Rita Williams, CFO at Cascade Enterprises, decided to convert her annual bonus of CAD 550,000 into DSUs on January 2, 2020.  The closing share price on the deferral date was CAD 10.30.  Cascade agreed to match the initial conversion up to 25%.  The quarterly cash dividend was CAD 0.30 on March 31, June 30, September 30, and December 31, which the company converted into additional DSUs.  The closing share price on the dividend payment dates was CAD 10.50, CAD 11.10, CAD 10.65, and CAD 11.20.

REQUIRED:

1. How many DSUs did Williams accumulate by the end of 2020?
2. Why did Williams convert her annual bonus into DSUs instead of buying actual shares?

3. Why would Cascade match Williams’ conversion up to 25%?
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